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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- | waswarned ---------- everything he says.
1) not believe 2) not to believe ~ 3) do not believe = 4) to not believe

77- Don’'t worry, everyone ----------- mistakes. I'm sureyou will ----------- better next time.
1) does/do 2) does/make 3) makes/do 4) makes/make

78- | started doing my homework when | got home from school but | stopped ---------- my
favoritefilm.
1) watching 2) to watch 3) watch 4) form watching

79- Computers ----------- for many specialized pur poses.
1) design 2) designed 3) must design 4) can be designed

80- Thesequestions ---------- in the classroom before you asked.
1) have answered 2) had answered

3) have been answered 4) had been answered
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81-

89-

90-

91-

The system hasthe ----------- to run morethan one program at the sametime.
1) award 2) ability 3) amount 4) action
They say the snow will ---------- until the end of next week.

1) last 2) scare 3) miss 4) jump
Theteam’svictory produced ----------- of joy all over the country.

1) details 2) losses 3) forces 4) scenes
Her ideas have ----------- alot of attention in the scientific society.

1) educated 2) behaved 3) attracted 4) informed
Sheis----------- with herself for making such a stupid mistake.

1) relaxed 2) scared 3) annoyed 4) excited
we aretrying to make every ----------- to arriveto the meeting on time.

1) service 2) report 3) experiment 4) endeavor
My teacher always ------------ what I’'m writing.

1) coverswith 2) switchesto 3) discusses on 4) behaves towards
[’'m not in the ------------ of turning on the TV assoon as| get home.

1) object 2) habit 3) pressure 4) project
A: What did hedo?

B: He ---------- the politicsin details.

1) required 2) breathed 3) expected 4) described
| wasvery ------------ tosee Mr. Javadi there. | thought he was still abroad.
1) surprised 2) relaxed 3) confused 4) honest
Don’t forget to take your medicine ------------- ;

1) physically 2) regularly 3) actually 4) closely

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best
fits each space. Then mark the correct choice on your answer sheet.

92-
93-
94-

96-

Somebody told a very funny joke at the office yesterday, and we were all laughing
alot for five minutes afterwards. Then the boss came in. He wasin abad (92) ----------

- of mind and started to talk about a work (93) -------------- . | couldn’t forget the joke
and | couldn’t keep (94) ------------ or smiling. The boss asked me what | was smiling
at. When | told him, he just looked at me and said (95) ------------- . | thought he was
going to (96) ---------- me out. But then he suddenly laughed loudly and welcomed me
warmly.

1) stage 2) state 3) smile 4) sketch

1) problem 2) opinion 3) invention 4) pattern

1) to laugh 2) laugh 3) laughed 4) laughing

1) everything 2) nothing 3) something 4) anything

1) throw 2) let 3) take 4) put
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PART C: Reading Comprehension:
Directions: Read the following passage and answer the questions by choosing the best choice

(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

At night you can see many stars. In the day, you can see one star — the sun. Did
you know that the sun is a star? It looks bigger than other stars because it is nearer to
us. The sun is much bigger than the moon. It is made of very hot gas. The sun’s light
and heat make our plants and food grow. We could not live without the sun.

97- At night you can see ------------- .

1) many suns 2) many star 3) just one star 4) abigger moon
98- Accordingtothe paragraph, the sun is made of ------------ .

1) fire 2) stone 3) hot gas 4) many moons
99- Thesun looks bigger than the starsbecauseit is------------- .

1) so hot 2) really bigger 3)isnearertous 4) far fromus
100- We need the sun to make --------------- :

1) usmove 2) make our food grow

3) the moon grow 4) make our food hot
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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

101- Tofino, which --------------- once a quiet fishing village in Canada, --------------- a popular
year-round resort now.
1) would be/ will become 2) had been / become
3) is/ isbecoming 4) was/ has become

102- Even the coordinator was surprised that they completed the project on time ---------------
the unfavor able weather conditions.

1) dueto 2) apart from 3) in spite of 4) in conjunction
with
103- Oneof thelatest effective ways of storing information islearning --------------- it.
1) how repeat 2) to repeat 3) how repeating 4) repeating
104- -------m-mm--- an average of 10 centimetersof rain a year, our city isthe wettest spot in the
country.
1) Receiving 2) received 3) Toreceive 4) It receives
105- -------memeee- was caused by breathing impure air was once a common belief.
1) Because malaria 2) That malaria
3) Why malaria 4) Malaria
106- --------------- the diameter of acircle, thelonger itscircumferenceis.
1) Greater as 2) The greater 3) Asgreat as 4) Greater is
107- Socrates --------------- that we --------------- with the improvement of our souls.
1) must have said / would be concerned  2) has said / had been concerned
3) had said / has been concerned 4) said / should be concerned
108- Even during economic booms, thereis --------------- of unemployment.
1) the small number 2) the small amount
3) asmall amount 4) asmall number

109- She haswon numerousaward in her country and has succeeded in the world --------------

1) aswell 2) either 3) adso 4) even

110- Until peoplerealize that they have to develop new sKills, there's no way the economy can
improve, --------------- ?
1) can't it 2) isthere 3) don't people 4) haven't they

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

111- Import controlsimpose limitations on the quality or value of goods, which are -------------
to enter a country.
1) levied 2) succeeded 3) alowed 4) persuaded

112- Scouts learn many useful outdoor skills and they are expected to follow the Scout law,
which isa code of correct --------------- :
1) conduct 2) settlement 3) investment 4) treaty

113- Manufacturing and agriculture are --------------- industriesin some countriesin Europe.
1) chief 2) heady 3) civic 4) direct
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114- Each different frequency or wavelength of visible light causes our eyeto see a -------------
different colour.

1) willingly 2) hurriedly 3) hardly 4) centrally

115- Our country is ready to hire outside consultants to -------------- its child welfare
operations.
1) process 2) train 3) resolve 4) evaluate

116- The first --------------- of Australia were the Aborigines, who immigrated there at least
40,000 year s ago from southeast Asia.
1) guests 2) inhabitants 3) populations 4) troops

117- Today, there is a statigtically --------------- increase in health problems among people
living near these industrial plants.
1) elusive 2) significant 3) selective 4) reluctant

118- Carol had --------------- from health problems for past couple of years, but she was
looking forward to getting back on her feet.
1) considered 2) pondered 3) suffered 4) endured

119- All teenagers have --------------- ; the problem is to teach them to exploit it to the best
advantage.
1) potential 2) preference 3) destiny 4) compulsion

120- After decades of speculation, astronomers now have fairly --------------- information
concerning the basic features of our universe.
1) desperate 2) preventing 3) accurate 4) respective

121- Finland is --------------- forested and contains thousands of lakes, numerous rivers and
extensive ar eas of marshland.
1) currently 2) exactly 3) actively 4) heavily

122- Geologists have --------------- that Africa was once warmer and wetter that it istoday.
1) experimented 2) searched 3) discovered 4) explored

123- Have they come to a --------------- yet on whether to move to London or stay in
Manchester?
1) conflict 2) suggestion 3) decision 4) reversal

124- Another application of acoustic technology concerns the nondestructive evaluation of
--------------- components of machinery.

1) critical 2) cognitive 3) diverse 4) annua

125- She uses multiple narrators and develops a --------------- suggestive inter play of opposed
VOICes.
1) likely 2) profoundly 3) largely 4) privately

PART C: Sentence Structure

Directions: Choose the sentence with the best order for each of the following series. Then
mark the correct choice on your answer sheet.

126-

1) Asthe manager won't admit to being at fault himself, he's trying to put the blame on
his assistants.

2) When the manager doesn't admit to being on fault himself, he tries putting his
assistants the blame.

3) Asthe manager won't admit to be on fault himsdlf, he'strying to put his asssantsthe blame.

4) When the manager not admits to be at fault himself; he tries putting the blame on
his assistants.
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127-
1) Assoon as| get paid, | take out you all for ameal.
2) Assoon as | will get paid, | will take out you all for ameal.
3) Assoon as | will paid, | take you all out for ameal.
4) Assoon as| get paid, | will take you all out for ameal.

128-
1) A job interview is for you a chance finding out if you and the job are for each other
right.
2) A job interview is a chance for you finding out whether you and the job are to each
other right.
3) A job interview is achanceto find out for you asif you and the job are right to each
other.
4) A job interview is a chance for you to find out whether you and the job are right for
each other.
129-
1) The new pink cell phone gives actually advices on how dressing in accord with the
day’ s weather.
2) The new pink cell phone actually gives advices on how to dress in accord with the
day’ s weather.
3) The pink new cell phone actually gives advices for how dress according to the
weather of the day.
4) The pink new cell phone gives actually advices for how to dress according to the
weather of the day.
130-

1) Most cultures have their own foundation myths to explain why society isasit is.
2) Most cultures have their own foundation myths explained why is society asit is.
3) Why society isasit is explains most cultures have their own foundation myths.

4) Why is society asit is explained most cultures have their own foundation myths.

PART D: Language Functions
Directions: Read the following conversations between two people and answer the questions

about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

131- A: Can we --------------- our essays at the end of the week?

B: No, it'slate.

1) Pick up 2) look on 3) turnin 4) stick to
132- A: Where should we take a vacation thisyear ?

B: | need to do someresearch first. That will help me --------------- my mind?

1) catch on 2) make up 3) open up 4) touch on
133- A: Thisisthe blue sweater, medium one. Would you liketo --------------- ?

B: Yes, | loveit.

1) takeit up 2) try iton 3) put it forth 4) seeit out
134- A: Haveyou seen Bill?

B: No, he --------------- college after hisfirst year.

1) turned over to 2) got out of 3) fell out with 4) dropped out of
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135-

136-

137-

138-

139-

140-

A: How old isMary?

B: She's 26.

A: Areyou sure of that?

B: Of course. Shetold me her sdlf --------------- :

1) the other day 2) all day long 3) to thisday 4) some day
A: | hear you went the opening of James' art exhibition last night; how wasit?
B: - . But | prefer hisearlier, more concrete style.

1) Gredt, | hope it would be 2) As amatter of fact

3) Quite good, | suppose 4) Don't mention it

A: 1'd some mor e coffee, please.

o , but there doesn't seem to be l€eft any.

1) No sense 2) I'm sorry 3) After all 4) Go ahead
A: | saw areally good movie yesterday.

B! --emmemeeeee-

1) How come? 2) And how! 3) Why not! 4) Who with?

A: | loveyour garden.

B: Thanks. | suppose I've always had --------------- .

1) rose-colored glasses 2) blue chip

3) red face 4) green thumb

A: Oh, you read thisthick book very soon.

B: Yeah, | --------------- reading intelligent, inter esting books.

1) goinfor 2) set aside for 3) talk over with 4) take up with

PART E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

141-
142-
143-

Physical therapy consists of the evaluation and treatment of patients disabled by disease,
accident, or stress. It uses exercise and (141) ------------ physical measures to (142) -----------
pain and disorders of mobility. Physical therapy is one of the (143) ---------------
professions and has as its objective the return of the patient to a pain-free, productive
life, whether the patient is a crippled child, an injured workman or athlete, a victim of
stroke, or someone otherwise disabled or in pain.

Physical therapy is (144) --------------- associated with the work of orthopedic
surgeons, but patients are referred (145) --------------- physical therapy by licensed
physicians, surgeons, and dentists. Physical therapy (146) --------------- with the
guidance of the physician or dentist, (147) --------------- the physical therapist maintains
contact through conferences and written reports (148) --------------- the care and
progress of the patient.

Evaluations (149) --------------- by physical therapists include tests to determine the
mobility of joints; the (150) --------------- of muscle strength, weakness, and (151) -------------
- of coordination; breathing capacity; the sufficiency of the circulatory, sensory, and
respiratory systems; and the ability of the patient to perform (152) --------------- daily
activities. Evaluations (153) --------------- information on the therapeutic programs that are
used and on the (154) --------------- of the treatment. Tests may be performed (155) ------------
or by means of electrical or other devices.

1) another 2) others 3) other 4) the another
1) characterize 2) dleviate 3) pretend 4) deform
1) extreme 2) complete 3) sufficient 4) rehabilitative
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144- 1) closely 2) exactly 3) globally 4) naturally
145- 1) on 2) for 3) a 4)in
146- 1) administers 2) isadministering 3) isadministered  4) has administered
147- 1) whom 2) withwho 3) that 4) whit whom
148- 1) regarded 2) regardsto 3) regarding 4) with regard
149- 1) perform 2) performed 3) performing 4) are performed
150- 1) degree 2) role 3) choice 4) type
151- 1) lack 2) size 3) kind 4) norm
152- 1) actual 2) primitive 3) constant 4) essential
153- 1) explore 2) observe 3) assume 4) provide
154- 1) postures 2) issues 3) results 4) habits
155- 1) directly 2) manually 3) entirely 4) immediately

PART F: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

156-

157-

PASSAGE 1.

For most modern airports, the major design problem is scale—how to allow adequate
space on the ground for maneuvering wide-body jets while permitting convenient and
rapid movement of passengers departing, arriving, or transferring from one flight to
another.

Most designs for airport terminals take one of four approaches. In the linear plan,
the building may be straight or curved. The passengers board aircraft parked next to
the terminal. This plan works well for small airports that need to provide boarding
areasfor only afew aircraft at atime.

In the pier plan, narrow corridors or piers extend from a central building. This plan
allows many aircraft to park next to the building. However, it creates long walking
distances for passengers.

In the satellite plan, passengers board aircraft from small terminals that are
separated from the main terminals. Passengers reach the satellites by way of shuttle
trains or underground passageways that have shulttle trains or moving sidewalks.

The transporter plan employs some system of transport to move passengers from
the terminal building to the aircraft. If buses are used, the passengers must climb a
flight of stairs to board the aircraft. If mobile lounges are used, they can link up
directly with the aircraft and protect passengers from the weather.

It can beinferred that scale would not pose a major design problem at airportsif -------- .
1) aircraft did not need so much space to maneuver on the ground

2) other forms of transportation were more efficient

3) airplanes could fly faster

4) airports were larger

Thelinear plan would probably be best at a/an --------------- .

1) busy airport

2) airport that serves alarge city

3) airport used by many small aircraft

4) airport with only afew arrivals or departures
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158-

159-

160-

161-

162-

163-

The passageimpliesthat theterm *‘satellite plan’’ isused because --------------- .
1) satellites are launched and tracked from these sites

2) small terminals encircle the main terminal like satellites around a planet

3) the plan makes use of the most modern, high-technology equipment

4) airports that make use of this plan utilize data from weather satellites

It's suggested that shuttletrainstransfer passengersto satellite terminalsfrom ----------- .
1) airplanes 2) downtown

3) the main terminal 4) other satellite terminals

Y ou can conclude that mobile lounges would be mor e desirable than buses when --------- .
1) passengers are in a hurry 2) passengers need to save money

3) flights have been delayed 4) the weather is bad

PASSAGE 2:

From Spain and North Africa through the central lands of Egypt, Syria and Irag, to
Iran and India in the East, and over a period of roughly twelve centuries, Islamic
medicine has shown great variation and diversity. As cosmopolitan Islamic culture
developed, shared traditions spanned vast areas and crossed many centuries. Yet local
conditions and innumerable other factors produced considerable diversity.
Communications over such a vast area during the course of several centuries were, as
would be expected, neither uniform nor very swift, and the dispersion of ideas and
texts from one region to another was uneven. The general health of the Islamic
community was influenced by many factors: the climatic conditions of the desert,
marsh, mountain and littoral communities; the different living conditions of nomadic,
rural, and urban populations; local economic factors and agricultural successes or
failures, population migration as well as travel undertaken for commerce, for
attendance at courts, or as a pilgrimage; the injuries and diseases attendant upon army
camps and battles; and the incidence of plague and other epidemics as well as the
occurrence of endemic conditions such as trachoma and other eye diseases.

It'simplied in the passage that 1lamic medicine ---------------

1) was not respected by European physicians due to its out- of-data nature

2) gained its popularity partly because of the European method it adopted

3) started to be practiced first in Spaln and North Africain the 8" century

4) was not so common a practice in Europe asit was in East

Theword ‘““spanned’’ in line 4 means --------------- .

1) measured 2) changed 3) limited 4) covered
Thereason for the diversity of ISlamic medicineis ---------=-=---

1) the new methods communicated fast with a short time thanks to new technol ogy
2) the healing traditions shared by many people spread over avast over centuries
3) the people looking forward to such modern medicinal techniques for ages

4) some healing techniques which proved to be efficient and effective

General health of the Islamic community was influenced by all of the following
EXCEPT ------nmmemee-

1) physicians used to travel alot to help theill

2) lifestyles of diverse groups were also different

3) people used to move from one place to another

4) epidemics and endemic conditions were common
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165-

166-

167-

168-

169-

170-

Accordlng to the passage the climatic condition of the desert ---------------

1) is not regarded as afactor |mportant inthe general health of the Islamw community

2) is the most significant factor in determining the general health of the Islamic
community

3) isone of the factors affecting the general health of the Islamic community

4) used to be paid more attention to before the conditions improved

PASSAGE 3

Although seismologists know that certain regions are more earthquake-prone than
others, they do not know for certain just when an earthquake will occur. Today much
of the effort of earthquake prediction goes into studying the geology of the Earth and
examining historical records of particular regions to determine exactly where and how
often earthquakes occurred in the past. This information can then be used to make
rough estimates of what to expect in the future in that same region. Such studies lead
seismologists to think that there is between a 10 and 50 percent probability that a
major earthquake will strike California within a person's lifetime. Most earthquakes do
little harm, but a few can cause great destruction and loss of life. Engineers study each
major earthquake to learn how to build safer buildings, dams, and bridges so that
destruction and loss of life can be reduced. Seismologists and other scientists continue
their studies to learn more about what happens at the earthquake source and to
discover more about the interior of the Earth.

Theword ‘““prone’ in line 1 can be substituted by --------------- :

1) fond 2) apt 3) correct 4) lucky
It'sunderstand from the passage that ---------------

1) engineers only study dams and bridges to learn about earthquakes

2) historical records give few cluesin the previous earthquakes

3) seismologists still cannot predict when an earthquake will occur

4) most earthquakes occur where less research is done

Earthquakes can be predicted by ---------------

1) analyzing the ways that cause destructi on

2) studying what has caused them so far

3) focusing on what should be done to decrease the number of causalities
4) studying the geology of the Earth and historical records of certain regions
According to the passage, the number of earthquakes ---------------- .

1) that cause great destruction is not that high

2) indicates how risky any given areaisto live

3) that has happened in the world so far isn't precisely known

4) inaregion depends on the structure of the surface rocks

The passage points out that engineer s ---------------

1) try to learn how earthquakes can be predlcated accurately

2) are the only people that should be consulted on scientific matters

3) aim to reduce destruction and loss of lifein their studies

4) should spend more time on earthquakes predication
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